
2. (4 points) Normal body temperature is 98.6°F. Calculate the temperature in

a) Celsius 

b) Kelvin 



4. (2 points) The specific heat of barium is 0.192 joule per gram degree Celsius. The specific heat of gold is 0.129 joule per gram degree Celsius. If 20.0 calories are added to 5.0 grams each of barium and gold, both at the same temperature, which element will have the higher final temperature?

gold or barium (circle one)


6. (10 points) Complete the following table:

a) 1 pound = _________ g

b) 1 liter = _________ qt

c) 1 in = _________ cm

d) 1 g = _________ mg

e) 1 km = _________ m

f) 1 L = _________ pL

g) 1 m = _________ cm

h) 1 g = _________ µg

i) 1 cal = _________ dcal

j) 1 erg = _________ nerg


7. (5 points) Calculate the density of a box having a mass of 158 g and dimensions: height 15.3 cm, length 4.81 cm, and width 4.92 cm.







9. (5 points) The energy of a photon is given by 
 INCLUDEPICTURE "http://de.lcc.whecn.edu/chem100058x/Tests/Test%201/T112.gif" \* MERGEFORMATINET 


. The constant k = hc, where h = J.sec, and c = [image: image2.png]300 x 10°



m/sec. Calculate the energy of an x-ray photon having a wavelength of [image: image3.png]843x 10



m.





10. (5 points) Copper has a density of 8.92 g/cc. Calculate the volume that 6.89 grams of copper would occupy.




11. (2 points) Indicate if the quantity is a unit of mass, length, volume, energy or force.

a) 3.5 [image: image4.png]


_____________ b) [image: image5.png]


_____________



13. (2 points) As the wavelength increases the energy of the electromagnetic radiation also increases. 

True or False (Circle one)

14. (5 points) If a sample of nitrogen occupies 596 mL at 21.0°C, what volume does it occupy at 62.0°C if the pressure remains constant?








15. (5 points) A sample of oxygen gas occupies 9.42 L at 575 torr. What pressure is required to compress the gas to a volume of 5.32 L?








16. (5 points) Suppose 5.00 liters of [image: image6.png]


at 450 torr and 6.00 liters of [image: image7.png]


at 300 torr are mixed in a 12.0 liter flask with the temperature remaining constant. What is the total pressure exerted by the gases in the 12.0 liter flask? Hint: First find the pressure of each gas at the new volume. Then use Dalton's law.






17. (5 points) Solve the conversion problem. 



? ton = [image: image8.png]481x 10"



µg




18. (5 points) Solve the conversion problem.



? yd = 3.55 Gm 



19. (5 points) Solve the conversion problem. 



? gal = 4.29 kL




20. (5 points) Solve the conversion problem.



[image: image9.png], P8 _Bddton
W moyr








21. (5 points) Solve the conversion problem. 



[image: image10.png]7)m’ =398 yd*








22. (5 points) Solve the conversion problem. 



[image: image11.png]



